
90%

158 000𝑘𝑟 90% 158 000𝑘𝑟

{70 000,100 000,125 000}

𝐴(100,4000) 𝐵(150,4500)

𝑎 =
𝑦2 − 𝑦1

𝑥2 − 𝑥1
=

4500 − 4000

150 − 100
= 10, 

𝑏 = 𝑦1 − 𝑎 · 𝑥1 = 4000 − 10 · 100 = 3000,

𝑓(𝑥) = 10𝑥 + 3000

𝑓′(𝑥) = −2𝑥 + 7

𝑓′(2) = −2 · 2 + 7 = −4 + 7 = 3

𝑥 = 2

𝑇 =
1

2
· 𝑎 · 𝑐 · sin(𝐵)

𝑇 =
1

2
· 4 · 5 · 0.75 =

3 · 4 · 5

8
=

15

2
= 7.5

𝑥 = 1 0 = 0

3𝑥 + 6 = 0 ⇔ 3𝑥 = −6 ⇔ 𝑥 = −
6

3
= −2

𝑥 = −2 ∨ 𝑥 = 1



 

𝑦 𝑥

 

 

 

 

5, 5, 5, 6, 6, 6, 6, 6, 6, 7, 7, 8, 8, 8, 9, 10, 10, 10, 10, 11

7 + 7

2
= 7

0

2

4

6

8

10

12

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

Antal kunder



6 + 6

2
= 6

9 + 10

2
= 9.5

{6, 7, 9.5}

𝑥 =
10 + 8 + 6 + ⋯ + 6

20
= 7.45

𝑉𝑎𝑟(𝑥) =
(10 − 7.45)2 + (8 − 7.45)2  + (6 − 7.45)2 + ⋯ + (6 − 7.45)2

20
= 3.6475

𝜎(𝑥) = √𝑉𝑎𝑟(𝑥) = √3.6475 = 1.9098



 24000𝑘𝑟

𝐴𝑓𝑑𝑟𝑎𝑔 = 𝑌𝑑𝑒𝑙𝑠𝑒 − 𝑅𝑒𝑛𝑡𝑒

987.76 = 𝑌 − 480 ⇔ 𝑌 = 1467.76

𝑟 2%

𝑅𝑒𝑛𝑡𝑒 = 𝑃𝑟𝑖𝑚𝑜 𝑅𝑒𝑠𝑡𝑔æ𝑙𝑑 · 𝑟

480 = 24000 · 𝑟 ⇔ 𝑟 = 0.02

2%

 8

24000 · (1 + 0.02)8 −
(1 + 0.02)8 − 1

0.02
· 1467.76 = 15522.086

8 15522.086𝑘𝑟

𝑅𝑛 = 𝐴0 · (1 + 𝑟)𝑛 − 𝑦 ·
(1 + 𝑟)𝑛 − 1

𝑟

𝐶(𝑥) = 0.0004𝑥3 − 0.4𝑥2 + 160𝑥 + 170000, 0 ≤ 𝑥 ≤ 2200 

𝑂(𝑥) = −0.4𝑥2 + 880𝑥, 0 ≤ 𝑥 ≤ 2200

 𝑅(𝑥)

𝑅(𝑥) = 𝑂(𝑥) − 𝐶(𝑥) 

= −0.4𝑥2 + 880𝑥 − (0.0004𝑥3 − 0.4𝑥2 + 160𝑥 + 170000) 

= −0.4𝑥2 + 880𝑥 − 0.0004𝑥3 + 0.4𝑥2 − 160𝑥 − 170000 

= −0.0004𝑥3 + 720𝑥 − 170000, 0 ≤ 𝑥 ≤ 2200

 𝑅′(𝑥) = 0

−0.0012𝑥2 + 720 = 0 ⇔ 0.0012𝑥2 = 720 ⇔ 𝑥 = 774.60

𝑅′′(774.60) = −0.0024 · 24 = −1.859040,   − 1.859040 < 0,   𝑚𝑎𝑥.

𝑥 = 774.60

𝑅(774.60) = 201806.4012



 𝑥 = 774.60. 𝐶′(𝑥) 𝑂′(𝑥)

𝐶′(𝑥) = 0.0012𝑥2 − 0.8𝑥 + 160 

𝑂′(𝑥) = −0.8𝑥 + 880

𝑥 = 774.60 𝑥

𝑅(𝑥)

𝐶′(774.60) = 0.0012 · 774.602 − 0.8 · 774.60 + 160 = 260.326 = 260.3 

𝑂′(774.60) = −0.8 · 774.60 + 880 = 260.320 = 260.3

𝑓(𝑥) = 33131 · 1.03𝑥

 1.03

3%

𝑑𝑒𝑐𝑒𝑚𝑏𝑒𝑟 2009

𝑎𝑢𝑔𝑢𝑠𝑡 2010

𝑓(8) = 33131 · 1.038 = 41969.357

 

𝑇2 =
ln(2)

ln(𝑎)
=

ln(2)

ln(1.03)
= 23.449 ≈ 23.5

23.5 

 𝑓(𝑥, 𝑦)

𝑓(𝑥, 𝑦) = 30𝑥 + 20𝑦

 𝑁(200)

200 = 30𝑥 + 20𝑦 ⇔ 𝑦 = 10 −
3

2
𝑥

(0,17.5), (3,16), (12,4), (14,0)

𝑓(0,17.5) = 350,   𝑓(3,16) = 410,    𝑓(12,4) = 440,   𝑓(14,0) = 420

𝑓(12,4)

12 4



 𝐴

∠𝐴 = arccos (
132 + 82 − 92

2 · 13 · 8
) = 43.049𝑜

 ℎ𝐵 𝐴𝐶 𝐻 ∠𝐻 = 90𝑜

∠𝐴 = 43.049𝑜 |𝐴𝐵| = 8 ℎ𝐵 |𝐵𝐻|

ℎ𝐵 = 8 · sin(43.049) = 5.46

 

 

 

𝑝(𝑥) 𝑝′(𝑥) = 0

3𝑥2 − 8𝑥 + 3 = 0

3𝑥2 − 8𝑥 = −3 ⇔ 

𝑥2 −
8

3
𝑥 + (−

4

3
)

2

= −1 + (−
4

3
)

2

⇔ 

(𝑥 −
4

3
)

2

=
7

9
⇔ 

𝑥 −
4

3
= ±√

7

9
⇔ 

𝑥 =
4 ± √7

3

𝑥 =
4 − √7

3
∨ 𝑥 =

4 + √7

3

𝑥 = 0.45138 ∨ 𝑥 = 2.2152

𝑝′′(𝑥) = 6𝑥 − 8

𝑝′′(0.45138) = −5.29172 



𝑝′′(2.2152) = 5.2912

𝑝′′(0.45138) < 0 𝑝′′(2.2152) > 0

𝑝(𝑥) 𝑥 ∈ (−∞; 0.45138] ∪ [2.2152; ∞)

𝑝(𝑥) 𝑥 ∈ [0.45138; 2.2152]

𝑝(𝑥)

𝑝(0.45138) = 0.63113 

𝑝(2.2152) = −2.1126

𝑝(𝑥) 0.63113 𝑥 = 0.45138

−2.1126 𝑥 = 2.2152

 𝑝(𝑥)


